Grammar Worksheet Russian through Propaganda, Book 1

Day 18 aspectual pairs and aspectual “red flags”

1. Aspect and “red flags”

Again, produce a simple Russian sentence that captures the gist of the English prompt through its choice of aspect. The English tense may
help you decide, but watch too for so-called “red flags” (see 18.8 and 18.9) that make the choice obvious.

nnatutb 1"t/ 1, | (f.) haven’t paid yet.
3annatutb U/

2. | often paid for (3a) the beer (M1BO).

3. | already paid for the beer.
cMmoTpeTtb B/ 4, He watched a film every day.
nocmoTpets E: 5. We'll watch a film every week.

6. We'll watch that film again.
nnakatb A / 7. My son suddenly started to cry.
3annakartb A:

8. He used to cry rarely.

9. Now (Tenepb) he'’s always crying.

nonyyatb A1/ 10. She didn’t receive a reply for a long time.
nosyuuTb Mt

11. Today she suddenly received a reply.

12. She’ll receive a reply every week.

nokasbiBatb Al / 13. We were showing a photograph.
nokasarb As:

14. We showed it yesterday (B4epa).

15. We will show it often.

2. “Already” and “still”

Follow the model, choosing aspect with the red flags “already” (yxe) and “still” (ewé&). You may write the verb forms only. Watch aspect.

cMmoTpeTb E / nocmoTpeTtb E nibMm:  — OHa yXke nocMoTpena (uiabm? — HerT, oHa elwé cmoTpuT!
Has she already watched the film? No, she’s still watching (it).
1. otabIxaTb A/l / oTAOXHYTb HY*d: — Ona yxe ? — Hert, oHa elwé
2. rotoButb /1 / npurotoBuTh /1 YOKIH: — Bbiyxe ? — Hert, Mbl elg

3. “Not yet” and “not anymore”

These important expressions tend to throw students off; it can help to think of the literal meaning of the Russian here. In Russian, we sim-
ply negate the adverbs we just learned: yxe (already) and ewé (still). This gives: yxe He (“not anymore” — literally, “already not”) and ewyé
He (“not yet” — literally, “still not”). Try a couple of examples, and try translating into English.

cmoTpeTb E / nocmoTpetb E huibm:  — OH yXe nocMoTpen hubMm. OH y>Xe He CMOTPWUT.
He’s already watched the film. He’s not watching (it) anymore.
1. nucartb A / HanucaTb A goknaa; — OHa yxe . OHa yxe He
2. pa6oTaTtb A/l / nopa6oTaTb Al — OHM yxe . OHM yxe He
pewartb A/l / pewmTsb /1°9 3anady: — OH ewé peLuan 3agady. OH ewé He peLunn 3a8a4y.
He was still working on the problem. He hadn’t solved the problem yet.*
1. nucartb A" / HanucaTb A Joknaz; — OHa ewg . OHaelg He
2. rotoBuTb /1 / npuroToBuTb /1 Y)KMH: — A (f)ewe . Hewé He

* Remember that Russian lacks perfect tenses. So, based on context, this past-tense verb could mean he “hasn’t...” OR “hadn’t...”



